Hoja 1.1 Matemastcl® BAT
Identidades trigonométricas

Demuestra las identidades trigopnométricas propsiesta

@erMates

1.- coseca - cosa = cotga

2.- coseca - tga = seca

3- 1+ tf(—a) = seba

4- 1+ctf (-a) = coseta

5.- cosa (tg a + cotga) = cosewr

6.- sena (cotga +tga) = seca

7- tgacota—coda = sed a

8.- senacoseca — coda = seda

9- (seca-1)(sea+1)=td a

10.- (coseca—1) (cose@ + 1) = t§ a

11.- (seca+ tga) (seca — tga) =1

12.- (coseca + cotga) (coseca — cotga) = 1

13.- serfa (1 + cotda) = 1

14.- (1 — sefa) (1+tfa) = 1

15.- (sena+ coxm)’ + (sena — cosa)’ =2

16.- tg° acos a+ cot asef a =1

17-sea-seCa=td a+tf a

18.- cosel a — coset a = cotd a + cotd a

coSa
1+ sena

19.- secx-—-tga =

sena
1+cosa

20.- cosew —cotga =




